N of associated (recoToSim) looper tracks vs normalized X’

) tracks vs normalized x?

recoToSim)

[{

[N o associated

normalized x? |

VS

[N of reco track

20

o
>
00 X
— O
©
© S
—
N |_H
— 3
@
o S
—
o
—
0
©
<
” o
i
L1 L )
- =3 -
syoes areddnp syoeJ) aredydnp
I o
N <
.......... 00 X
— O
s
.......... © =
.......... <
—
.......... N
—
.......... o
.......... o
—t—— ~
— ;
o =
o m 2 4 o
syoen ey oney syoen ey
I o
N <
00 X
— O
g
[(olp=]
—
<
—
o
- B3
S o
- pgx
o L
L O
0 0
© T © 3
£ : 3
N <
N EE i
d 50. 4n.v 30.
[S] ul. — —
SR
o
N
0
—
©
<
—
N
—
o
o
" T
@
2
< &
S
£ .
~ °
3
2 " ¥ %
T - o < B
3 > S 23
Z| syoen




	Contents
	Page 1


